Online Chapter 3, Appendix I: Difference of Means Test for Healthcare Cost

Indicate your preference: The government should do more to make healthcare
affordable (coded 1); a policy in-between (coded 2); the government should leave
it up to the free market to determine healthcare costs (coded 3).

Group Standard 95% Confidence Interval
Mean Error
Non-Millennial 0.729 0.018 0.694 0.763
Millennial 0.723 0.018 0.688 0.759
Wald Test Non-Millennial = Millennial

F(1, 1247) = 0.04
Prob > F = 0.835
N = 1,248

Note: Means test run on estimate sample, given survey weights for Millennial and
non-Millennial to correct for the oversample of Millennials.







